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You don' have to use the workings boxes to achieve full marks on the task, however data in the workings will be
taken into consideration if you make errors inthe proforma.

[You will be asked to draft a statement of changes in equity in task 2 using the same data.

The data will be repeated in task 2]






CBA Sample assessment model answers

Financial Statements (FSTM)
Sample assessment 2

Task 1 (33 marks)
[image: image16.png]Workings:

|Carnying amount of PPE sold 576)

[AT[4]

[[oss on disposal of PPE E

[PPE at start of year 32691
[Depreciation charge 427

[Camying amount of PPE sold 576

[AJTAT[ATTAT

[PPE atend of year -47835|

[Total PPE additions 21147)





[image: image2.png]Fontwell Ltd
Reconciliation of profit from operations to net cash from operating activities

roftfom operatons 1re7[4]
[Adjustments for:

[bepresaton serld]
[Coss on diposar arPPE 4
[ovigencs recenea BB
[Ausimentmrespectofimventories X
[Rdjustment in respect of rade receivables. 1301)4]
[Fsstment m rsspectoTvae parabies 2l
Cash generated by operations. 19615 4
[Faxpaia ER
irerestpars EEYK
[Net cash from operating activities 163454





Task 1 (continued)
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Statement of cash flows for the year ended 30 June 20X1

et cash rom operating actites 1c245[4]
Ivesting actites

[ovicencs recenea =]
[Proceeds on disposal of PPE 5373
[Paranssss arPPe ZnaTfa
[Net cash used in investing activities 20453 (4]
[Financing actites

[Bankioans 00ld
[Frosseds orsnars seus Ti00/4]
[ovigena paa =20
[Net cash from financing activities 43004
[Netincreasel(decrease) in cash and cash equivalents 192|4]
[Cash and cash equivalents at beginning of year -74/4|
[Cash and cash equivalents at e ofyear e






Task 2 (7 marks)

[image: image3.png]Fontwell Ltd - Statement of changes in equity for the year ended 30 June 20X1
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FNIEN|ES]

Balance at 1 July 20X0 18000 6300 17600 41900
Changes in equity

“Total profit 8907 8907
Dividends, 3200 3200
Issue of share capital 4500 2600 7100
Balance at 30 June 20X1 22500 8900 23307 54707
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Task 3 (10 marks)

(a)

Going Concern.
The assumption of going concern is that a company will continue in operational existence for the foreseeable future. Hence, it is assumed that the entity has neither the intention, nor the need to liquidate or curtail materially the scale of its operations; if such an intention or need exists, the financial statements may have to be prepared on a different basis and, if so, the basis used is disclosed. 
(b)
Historical cost. 

Assets are recorded at the amount of cash or cash equivalents (price) paid or the fair value of the consideration given to acquire them at the time of their acquisition. Liabilities are recorded at the amount of proceeds received in exchange for the obligation , or in some circumstances at the amount of cash or cash equivalents expected to be paid to satisfy the liability  in the normal course of business. 

Current cost.
Assets are carried at the amount of cash or cash equivalents that would have to be paid if the same or an equivalent asset was acquired currently. Liabilities are carried at their settlement values; that is, the undiscounted amounts of cash or cash equivalents expected to be paid to satisfy the liabilities in the normal course of business . 
Realisable (settlement) value. 

Assets are carried at the amount of cash or cash equivalents that could currently be obtained by selling the asset in an orderly disposal. Liabilities are carried at their settlement values, that is, the undiscounted amounts of cash or cash equivalents expected to be paid to satisfy the liabilities in the normal course of business .

Present value. 

Assets are carried at the present discounted value of the future net cash inflows that the item is expected to generate in the normal course of business. Liabilities are carried at the present discounted value of the future net cash outflows that are expected to be required to settle the liabilities in the normal course of business.
Task 4 (12 marks)
(a)


The recoverable amount is the greater of the fair value (market value) less costs to sell and the value in use.
Fair value is the price that would be received to sell an asset in an orderly transaction between market participants at the measurement date. 

Value in use is the present value of the future cash flows expected to be derived from an asset. 

Recoverable amount is the greater of:
Fair value less costs to sell 
£341,000 - £15,000 = £326,000

Value in use 


£367,000 = Recoverable amount 
(b)


An impairment loss is the amount by which the carrying amount of an asset exceeds its recoverable amount.
Carrying amount £875,000 – £481,000 
= £394,000
Recoverable amount 


= £367,000 

Impairment Loss


= £27,000 
 
Task 5 (17 marks)
[image: image4.png]Statement The lease must be recognised as an asset and liability in the statement of financial position.

(@) Is this statement true or false?

False







[image: image5.png](b) What is the tax charge that will be shown in the company’s statement of profit or loss?
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[image: image6.png](c) Whatis the value of closing inventory at 30 June 20X1?
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Task 5, continued

[image: image7.png](d) What will be the carrying amount of the machine at 30 June 20X3?
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Task 5, continued

[image: image9.png]() Which of the following statements are correct with regard to property, plant and equipment (PPE)?

(1) Arevaluation resenve arises when an tem of PPE is sold at a profit.
(2) Allnon-current assets must be depreciated.

() only

(@ only

Both

Neither of them.






Task 6 (28 marks)

[image: image10.png](a) Calculate the figures for goodwill and non-controlling interest that would be included in the
‘consolidated statement of financial position of Purley Pic and its subsidiary undertaking as at

30 June 20X1.
Note:

You don't have to use the workings tables to achieve full marks on the task, however data entered into the
workings tables will be considered ifyou make errors in the proforma.

Gooawill =

Goodwil 58|

Non-controlling interest 100

Workings

Price paid 410) [share capital - atributable to NCI 72|

Share capital - atiibutable to Purley Pic 288 [Retained eamings - atiibutable to NCI 28]

Retained eamings - atrioutable to Purley PIc 64| |Non-controliing interest 00
|







Task 6, continued

[image: image11.png](b) Draft the consolidated statement of profit or loss for Danes Pic and its subsidiary undertaking for the
year ended 30 June 20X1.

Note:

You donitneed o use the workings to achieve full marks on the task, but data in the workings will be.

considered if you make errors in the proforma.
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Consolidated statement of profit or loss for the year ended
30 June 20X1 Workings.
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Task 7 (20 marks)
[image: image13.png](a) Identify the formulas that are used to calculate each of the following ratios:

Retun on sharenolders' funds

[Proft after tax / Total equity_x 100

Interest cover

[Proftirom operations / Finance costs

Current ratio

[Current assets / Current liabilfies.

‘Operating profit percentage

[Proftirom operations / Revenue 100

Inventory tumover

[Costof sales /Inventories.

(b) Calculate the above ratios to ONE decimal place.
Retun on sharenolders' funds 312 |%
Interest cover 154 | times
Current ratio 25 |
‘Operating profit percentage ErE i
Inventory tumover 53 |times






Task 8 (23 marks)
(a)


(i)
20X1 Gross profit % is worse.










· Less gross profit is being generated by sales/lower gross profit margins on 
sales.




· Selling prices may have decreased.









· Cost of sales / purchase costs may have increased.







· The mix of products sold may have changed in 20X1.







· The annual budget anticipated a reduction of gross profit (to 33%) but the drop is greater than expected.













(ii)
20X1 Operating Profit % is better.









· As the gross profit ratio has declined the improvement is due to lower overhead costs. 



· More operating profit is being generated from sales.







· The operating profit achieved is in line with the budget.







· As gross profit is lower than the budget, this indicates that costs are lower than planned.



(iii) 20X1 Interest Cover is better.










· More profit is available to meet interest payments (less risky).






· May be caused by higher operating profits.









· May be caused by lower interest payments.








· May have paid off debt during the year









· Interest rates may have declined.










· The improvement in interest cover was anticipated by the budget, but is better than expected.


Task 8, continued
(b)
Limitations of Ratio analysis
· Different Accounting Policies

The choices of accounting policies may distort inter-company comparisons.

· Creative Accounting

Companies may try to show a better financial performance or position.

· Outdated information in financial statements

Financial statements are likely to be out of date and will not reflect the current position.

· Changes in accounting policy

Changes may affect the comparison of results between different accounting years.

· Ratios are not definitive measures

Ratios only provide clues to the company’s performance or financial situation. 

· Historical costs not suitable for decision making 

Ratios based on historical costs may not be very useful for decision making. 

· Interpretation of the ratio

It is difficult to generalise about whether a particular ratio is ‘good’ or ‘bad’. 

· Price changes

Inflation renders comparisons of results over time misleading.

· Changes in accounting standard

Change will affect the comparison of results over a number of years. 

· Impact of seasons on trading

Some businesses are affected by seasons and can choose the best time to produce financial statements so as to show better results. 

· Different financial and business risk profile

Businesses may be within the same industry but have different financial and business risk. 

· Different capital structures and size

Companies may have different capital structures which makes comparison difficult.

